http://nfaa.kyungnam.ac.kr/jour-nfaa.htm Copyright © 2012 Kyungnam University Press

STABILITY OF QUADRATIC FUNCTIONAL EQUATION IN INTUITIONISTIC FUZZY NORMED SPACES

S. Ostadbashi¹, S. Mahmoudfakhe² and M. Solaimaninia³

¹Department of Mathematics, University of Urmia, IRAN. e-mail: s.ostadbashi@Urmia.ac.ir

²Department of Mathematics, University of Urmia, IRAN. e-mail: sooran_88@yahoo.com

³Department of Mathematics, University of Urmia, IRAN. e-mail: mahsa_Solaimaninia@yahoo.com

Abstract. In this paper, some stability results concerning the functional equation

$$f(2x + y) + f(2x - y) = f(x + y) + f(x - y) + f(2x) - 2f(x)$$

in intuitionistic fuzzy normed spaces are investigated. Also, the intuitionistic fuzzy continuity of the quadratic and additive functions is defined.

1. Introduction

The definition of stability in the case of homomorphisms between metric groups was suggested by a problem posed by S. M. Ulam [9] in 1940. Let $(G_1, *)$ be a group and let (G_2, \diamond, d) be a metric group with the metric d(., .). Given $\epsilon > 0$, does there exist a $\delta > 0$, such that if a mapping $h: G_1 \longmapsto G_2$ satisfies the inequality $d(h(x*y), h(x) \diamond h(y)) < \delta$ for all $x, y \in G_1$, then there is a homomorphism $H: G_1 \longmapsto G_2$ whit $d(h(x), H(x)) < \varepsilon$ for all $x \in G_1$? The concept of stability for functional equation arises when we replace the functional equation by an inequality which acts as a perturbation of the equation

In 1941, D. H. Hyers gave a first affirmative answer to the equation of Ulam for Banach space[5].

 $^{^0\}mathrm{Received}$ August 22, 2011. Revised July 4, 2012.

 $^{^{0}2000}$ Mathematics Subject Classification: $39B82,\,39B52$

⁰Keywords: Quadratic functional equation, Hyers- Ulam- Rassias stability, fuzzy normed space.

Fuzzy set theory is a powerful hand set for modeling uncertainty and vagueness in various problems arising in the field of science and engineering. It was also very useful application in various fields, e. g., population dynamics[1], computer programming[3], nonlinear operators[4], stability problem [6], etc.

Definition 1.1. A binary operation $*: [0,1] \times [0,1] \longrightarrow [0,1]$ is said to be a continuous t- norm if it satisfies the following conditions:

- a) * is associative and commutative,
- b) * is continuous,
- c) $a \times b \leq c \times d$ whenever $a \leq c$ and $b \leq d$ for each $a, b, c, d \in [0, 1]$,
- d) a * 1 = a for all $a \in [0, 1]$.

Definition 1.2. A binary operation $\diamond : [0,1] \times [0,1] \longrightarrow [0,1]$ is said to be a continuous t- conorm if it satisfies the following conditions:

- a') \diamond is associative and commutative,
- b') \diamond is continuous,
- (c') $a \diamond b \leq c \times d$ whenever $a \leq c$ and $b \leq d$ for each $a, b, c, d \in [0, 1]$,
- d') $a \diamond 0 = a$ for all $a \in [0, 1]$.

Definition 1.3. The five- tuple $(X, \mu, \nu, *, \diamond)$ is said to be intuitionistic fuzzy normed spaces if X is a vector space, * is continuous t- norm, \diamond is a continuous t- conorm, and μ, ν are fuzzy sets on $X \times (0, +\infty)$ satisfying the following conditions, for every $x, y \in X$ and s, t > 0

 $(i)\mu(x,t) + \nu(x,t) \leq 1, \ (ii)\mu(x,t) \geq 0, \ (iii)\mu(x,t) = 1 \ \text{if and only if} \ x = 0, \ (iv)\mu(\alpha x,t) = \mu(x,t/|\alpha|) \ \text{for each} \ \alpha \neq 0, \ (v)\mu(x,t) * \mu(y,s) \leq \mu(x+y,t+s), \ (vi)\mu(x,.) : (0,+\infty) \to [0,1] \ \text{is continuous,} \ (vii) \lim_{t\to\infty} \mu(x,t) = 1 \ \text{and} \ \lim_{t\to 0} \mu(x,t) = 0, \ (viii)\nu(x,t) < 1, \ (ix)\nu(x,t) = 0 \ \text{if and if} \ x = 0, \ (x)\nu(\alpha x,t) = \nu(x,t/|\alpha|) \ \text{for each} \ \alpha \neq 0, \ (xi)\mu(x,t) \diamond \mu(y,s) \geq \nu(x+y,t+s), \ (xii)\nu(x,...) : (0,+\infty) \to [0,1] \ \text{is continuous,} \ (xiii) \lim_{t\to\infty} \nu(x,t) = 0 \ \text{and} \ \lim_{t\to 0} \nu(x,t) = 1.$

For facility we represent the intuitionistic fuzzy normed space by IFNS.

The concepts convergence and Cauchy sequences in intuitionistic fuzzy normed space are in [8].

Let $(X, \mu, \nu, *, \diamond)$ be an INFS. Then, a sequences $X = (x_k)$ is said to be intuitionistic fuzzy Cauchy sequence if $\lim_{k\to\infty} \mu(x_k-x_k,t)=1$ and $\lim_{k\to\infty} \nu(x_k-x_k,t)=0$ for all t>0 and p=1,2,...

Let $(X, \mu, \nu, *, \diamond)$ be an INFS. Then a sequences $X = (x_k)$ is said to be intuitionistic fuzzy convergent to $L \in X$ if $\lim_{k\to\infty} \mu(x_k - L, t) = 1$ and $\lim \nu(x_k - L, t) = 0$ for all t > 0. In this case we write $x_k \to^{IF} L$ as $k \to \infty$.

Let $(X, \mu, \nu, *, \diamond)$ be an INFS. Then $(X, \mu, \nu, *, \diamond)$ is said to be complete if every intuitionistic fuzzy Cauchy in $(X, \mu, \nu, *, \diamond)$ is intiutionistic fuzzy convergent in $(X, \mu, \nu, *, \diamond)$.

In [7], Mohiuddine determined some stability results concerning the Jensen functional equation 2f((x+y)/2) = f(x) + f(y) in intuitionistic fuzzy normed spaces.

2. Main Results

The quadratic functional equation is

$$\Phi_f(x,y) := f(2x+y) + f(2x-y) - f(x+y) - f(x-y) - 2f(2x) + 2f(x) = 0,$$

where f is a mapping between liner spaces. It is easy to see that a mapping $f: X \to Y$ between liner spaces with f(0) = 0 satisfies the quadratic equation if only if it is additive[2].

We begin with a generalized Hyers-Ulam-Rassias type theorem in IFNS for the quadratic functional equation.

Theorem 2.1. Let X be linear space and f be a mapping from X to an intuitionisic fuzzy Banach space (Y, μ, ν) such that f(0) = 0. Suppose that ϕ is a function from X to an intuitionistic fuzzy normed space (Z, μ', ϕ') such that

$$\mu(\Phi_f(x,y),t+s) \ge \mu'(\varphi(x),t) * \mu'(\varphi(y),s),$$

$$\nu(\Phi_f(x,y),t+s) \le \nu'(\varphi(x),t) \diamond \nu'(\varphi(y),s),$$
(2.1)

for all $x, y \in X - \{0\}, t > 0$ and s > 0. If $\phi(2x) = \alpha \phi(x)$ for some real number α with $0 < |\alpha| < 2$, then there exists a unique additive mapping $T: X \to Y$ such that $T(x) = \lim_{n \to \infty} f(2^n x)/2^n$ and we have

$$\mu(T(x) - f(x), t) \ge M(x, \frac{(2 - \alpha)t}{4}),$$

 $\nu(T(x) - f(x), t) \le N(x, \frac{(2 - \alpha)t}{4}),$

where

$$M(x,t) = \mu'(\varphi(x), t/4) * \mu'(\varphi(x/2), t/4) * \mu'(\varphi(3/2x), t) * \mu'(\varphi(2x), t)$$
 and
$$N(x,t) = \nu'(\varphi(x), t/4) * \nu'(\varphi(x/2), t/4) * \nu'(\varphi(3/2x), t) * \nu'(\varphi(2x), t).$$

Proof. Without loss of generality, we assume that $0 < \alpha < 2$. Putting t = s in (2.1), we get

$$\mu(\Phi_f(x,y), 2t) \ge \mu'(\varphi(x), t) * \mu'(\varphi(y), t),$$

$$\nu(\Phi_f(x,y), 2t) \le \nu'(\varphi(x), t) \diamond \nu'(\varphi(y), t),$$
(2.2)

for all $x \in X$ and t > 0. By putting y = x, y = 3x, y = 4x in (2.2), we get the inequalities

$$\mu(f(3x) - f(4x) + 3f(x), 2t) \ge \mu'(\varphi(x), t)$$

$$\nu(f(3x) - f(4x) + 3f(x), 2t) \le \nu'(\varphi(x), t),$$
(2.3)

$$\mu(f(5x) - f(4x) - f(2x) + f(x), 2t) \ge \mu'(\varphi(x), t) * \mu'(\varphi(3x), t),$$

$$\nu(f(5x) - f(4x) - f(2x) + f(x), 2t) \le \nu'(\varphi(x), t) \diamond \nu'(\varphi(3x), t),$$
(2.4)

$$\mu(f(6x) - f(5x) + f(3x) - 3f(2x) + 2f(x), 2t)$$

$$\geq \mu'(\varphi(x), t) * \mu'(\varphi(4x), t),$$

$$\nu(f(6x) - f(5x) + f(3x) - 3f(2x) + 2f(x), 2t)$$

$$\leq \nu'(\varphi(x), t) \diamond \nu'(\varphi(4x), t).$$
(2.5)

It follows from above inequalities

$$\mu(f(6x) - f(4x) - f(2x), 6t) \ge \mu'(\varphi(x), t) * \mu'(\varphi(3x), t) * \mu'(\varphi(4x), t), \nu(f(6x) - f(4x) - f(2x), 6t) \le \nu'(\varphi(x), t) \diamond \nu'(\varphi(3x), t) \diamond \nu'(\varphi(4x), t).$$
(2.6)

Replacing x by x/2 in (2.6), we get

$$\mu(f(3x) - f(2x) - f(x), 6t)$$

$$\geq \mu'(\varphi(\frac{x}{2}), t) * \mu'(\varphi(\frac{3x}{2}), t) * \mu'(\varphi(2x), t),$$

$$\nu(f(3x) - f(2x) - f(x), 6t)$$

$$\leq \nu'(\varphi(\frac{x}{2}), t) \diamond \nu'(\varphi(\frac{3x}{2}), t) \diamond \nu'(\varphi(2x), t).$$

$$(2.7)$$

Therefore, we infer from (2.3) and (2.7)

$$\mu(f(2x)-2f(x),8t)$$

$$\geq \mu'(\varphi(x), t) * \mu'(\varphi(\frac{x}{2}), t) * \mu'(\varphi(\frac{3x}{2}), t) * \mu'(\varphi(2x), t),$$

$$\nu(f(2x) - 2f(x), 8t)$$

$$\leq \nu'(\varphi(x), t) \diamond \nu'(\varphi(\frac{x}{2}), t) \diamond \nu'(\varphi(\frac{3x}{2}), t) \diamond \nu'(\varphi(2x), t).$$

$$(2.8)$$

It follows that

$$\mu(\frac{1}{2}f(2x) - f(x), t)
\geq \mu'(\varphi(x), \frac{t}{4}) * \mu'(\varphi(\frac{x}{2}), \frac{t}{4}) * \mu'(\varphi(\frac{3x}{2}), \frac{t}{4}) * \mu'(\varphi(2x), \frac{t}{4}),
\nu(\frac{1}{2}f(2x) - f(x), t)
\leq \nu'(\varphi(x), \frac{t}{4}) \diamond \nu'(\varphi(\frac{x}{2}), \frac{t}{4}) \diamond \nu'(\varphi(\frac{3x}{2}), \frac{t}{4}) \diamond \nu'(\varphi(2x), \frac{t}{4}).$$
(2.9)

Define

$$M(x,t) := \mu'(\varphi(x), \frac{t}{4}) * \mu'(\varphi(\frac{x}{2}), \frac{t}{4}) * \mu'(\varphi(\frac{3x}{2}), \frac{t}{4}) * \mu'(\varphi(2x), \frac{t}{4}),$$

$$N(x,t) := \nu'(\varphi(x), \frac{t}{4}) * \nu'(\varphi(\frac{x}{2}), \frac{t}{4}) * \nu'(\varphi(\frac{3x}{2}), \frac{t}{4}) * \nu'(\varphi(2x), \frac{t}{4}).$$

By our assumption

$$M(2x,t) = M(x,\frac{t}{\alpha}), \ N(2x,t) = N(x,\frac{t}{\alpha}).$$

Replacing x by $2^n x$ in (2.9), we have

$$\mu(\frac{1}{2^{n+1}}f(2^{n+1}x) - \frac{1}{2^n}f(2^nx), \frac{1}{2^n}\alpha^nt) = \mu(f(2^{n+1}) - f(2^nx), \alpha^nt)$$

$$\geq M(2^nx, \alpha^nt) = M(x, t),$$

$$\nu(\frac{1}{2^{n+1}}f(2^{n+1}x) - \frac{1}{2^n}f(2^nx), \frac{1}{2^n}\alpha^nt) = \nu(f(2^{n+1}) - f(2^nx), \alpha^nt)$$

$$\leq N(2^nx, \alpha^nt) = N(x, t).$$
(2.10)

Thus, for n > m, we have

$$\mu(\frac{1}{2^{n}}f(2^{n}x) - \frac{1}{2^{m}}f(2^{m}x), \sum_{k=m}^{n-1} \frac{1}{2^{k}}\alpha^{k}t)$$

$$= \mu(\sum_{k=m}^{n-1} (\frac{1}{2^{k}}f(2^{k}x) - \frac{1}{2^{k+1}}f(2^{k+1}x)), \sum_{k=m}^{n-1} \frac{1}{2^{k}}\alpha^{k}t)$$

$$\geq \prod_{k=m}^{n-1} \mu(\frac{1}{2^{k}}f(2^{k}x) - \frac{1}{2^{k+1}}f(2^{k+1}x), \frac{1}{2^{k}}\alpha^{k}t)$$

$$\geq M(x, t),$$
(2.11)

$$\nu(\frac{1}{2^{n}}f(2^{n}x) - \frac{1}{2^{m}}f(2^{m}x), \sum_{k=m}^{n-1} \frac{1}{2^{k}}\alpha^{k}t)$$

$$= \nu(\sum_{k=m}^{n-1} (\frac{1}{2^{k}}f(2^{k}x) - \frac{1}{2^{k+1}}f(2^{k+1}x)), \sum_{k=m}^{n-1} \frac{1}{2^{k}}\alpha^{k}t)$$

$$\leq \prod_{k=m}^{n-1} \nu(\frac{1}{2^{k}}f(2^{k}x) - \frac{1}{2^{k+1}}f(2^{k+1}x), \frac{1}{2^{k}}\alpha^{k}t)$$

$$\leq N(x,t), \tag{2.12}$$

where

$$\prod_{j=1}^{n} a_j = a_1 \star a_2 \star \dots \star a_n, \ \prod_{j=1}^{n} a_j = a_1 \diamond a_2 \diamond \dots \diamond a_n.$$

Let $\epsilon > 0$ and $\delta > 0$ be given. Since $\lim_{n \to \infty} M(x,t) = 1$ and $\lim_{t \to \infty} N(x,t) = 0$, then there exists $t_0 > 0$ such that $M(x,t_0) > 1 - \epsilon$ and $N(x,t_0) < \epsilon$. Since $\sum_{k=0}^{\infty} \alpha^k t_0/2^k < \infty$, then there exists $N \in \mathbb{N}$ such that $\sum_{k=m}^{n-1} \alpha^k t_0/2^k < \delta$, for all $n > m \ge N$. It follows that

$$\mu(\frac{1}{2^n}f(2^nx) - \frac{1}{2^m}f(2^mx), \delta) \ge \mu(\frac{1}{2^n}f(2^nx) - \frac{1}{2^m}f(2^mx), \sum_{k=m}^{n-1} \frac{1}{2^k}\alpha^k t_0)$$

$$\ge M(x, t_0) > 1 - \epsilon,$$

$$\nu(\frac{1}{2^n}f(2^nx) - \frac{1}{2^m}f(2^mx), \delta) \le \nu(\frac{1}{2^n}f(2^nx) - \frac{1}{2^m}f(2^mx), \sum_{k=m}^{n-1} \frac{1}{2^k}\alpha^k t_0)$$

$$\le N(x, t_0) < \epsilon.$$

This shows that $\{\frac{1}{2^n}f(2^nx)\}$ is cauchy sequence in (Y,μ,ν) . Since (Y,μ,ν) is complete, $\{\frac{1}{2^n}f(2^nx)\}$ converges to T(x). Moreover, if we put m=0 in (2.11) and(2.12), we get

$$\mu(\frac{1}{2^n}f(2^nx) - f(x), \sum_{k=0}^{n-1} \frac{\alpha^k t}{2^k}) \ge M(x, t),$$

$$\nu(\frac{1}{2^n}f(2^nx) - f(x), \sum_{k=0}^{n-1} \frac{\alpha^k t}{2^k}) \le N(x, t).$$
(2.13)

Now ,we will show that T is additive. Let $x, y \in X$. Then

$$\mu(\Phi_{T}(x,y),t) \geq \mu(T(2x+y) - \frac{1}{2^{n}}f(2^{n}(2x+y)), \frac{t}{7})$$

$$\star \mu(T(2x-y) - \frac{1}{2^{n}}f(2^{n}(2x-y)), \frac{t}{7}) \star \mu(\frac{1}{2^{n}}f(2^{n}(x+y)) - T(x+y), \frac{t}{7})$$

$$\star \mu(\frac{1}{2^{n}}f(2^{n}(x-y) - T(x-y), \frac{t}{7}) \star \mu(\frac{2}{2^{n}}f(2^{n}(2x)) - 2T(2x), \frac{t}{7})$$

$$\star \mu(2T(x) - \frac{2}{2^{n}}f(2^{n}x), \frac{t}{7}) \star \mu(\frac{1}{2^{n}}f(2^{n}(2x+y)) + \frac{1}{2^{n}}f(2^{n}(2x-y))$$

$$- \frac{1}{2^{n}}f(2^{n}(x+y)) - \frac{1}{2^{n}}f(2^{n}(x-y)) - \frac{2}{2^{n}}f(2^{n}(2x)) + \frac{2}{2^{n}}f(2^{n}x), \frac{t}{7},$$
(2.14)

and by using (2.1), we have

$$\mu(\frac{1}{2^{n}}f(2^{n}(2x+y)) + \frac{1}{2^{n}}f(2^{n}(2x-y)) - \frac{1}{2^{n}}f(2^{n}(x+y)) - \frac{1}{2^{n}}f(2^{n}(x+y)) - \frac{1}{2^{n}}f(2^{n}(x-y)) - \frac{2}{2^{n}}f(2^{n}(2x)) + \frac{2}{2^{n}}f(2^{n}x), \frac{t}{7}) \ge \mu'(\varphi(2^{n}x), \frac{2^{n}t}{14})$$

$$\star \mu'(\varphi(2^{n}y), \frac{2^{n}t}{14}) = \mu'(\varphi(x), \frac{(\frac{2}{\alpha})^{n}t}{14}) \star \mu'(\varphi(y), \frac{(\frac{2}{\alpha})^{n}t}{14}).$$
(2.15)

Letting $n \to \infty$ in (2.14) and (2.15), we get

$$\mu(T(2x+y) + T(2x-y) - T(x+y) - T(x-y) - 2T(2x) + 2T(x), t) = 1,$$

similarly, we obtain

$$\nu(T(2x+y) + T(2x-y) - T(x+y) - T(x-y) - 2T(2x) + 2T(x), t) = 0,$$

for all $x, y \in X$ and t > 0. This means that T satisfies the quadratic equation, so it is additive.

Now we approximate the difference between f and T in intuitionistic fuzzy sense. By (2.13), we have

$$\mu(T(x) - f(x), t) \ge \mu(T(x) - \frac{1}{2^n} f(2^n x), \frac{t}{2}) \star \mu(\frac{1}{2^n} f(2^n x) - f(x), \frac{t}{2})$$

$$\ge M(x, \frac{t}{2\sum_{k=0}^{\infty} (\frac{\alpha}{2})^k}) = M(x, \frac{(2-\alpha)t}{4}),$$

and

$$\nu(T(x) - f(x), t) \le \nu(T(x) - \frac{1}{2^n} f(2^n x), \frac{t}{2}) \star \nu(\frac{1}{2^n} f(2^n x) - f(x), \frac{t}{2})$$

$$\le N(x, \frac{t}{2\sum_{k=0}^{\infty} (\frac{\alpha}{2})^k}) = N(x, \frac{(2-\alpha)t}{4}),$$

for every $x \in X, t > 0$ and sufficiently large n. To prove the uniqueness of T, assume that T' be another additive mapping from X into Y, which satisfies the required inequality. Then

$$\mu(T(x) - T'(x), t) \ge \mu(T(x) - f(x), \frac{t}{2}) \star \mu(T'(x) - f(x), \frac{t}{2})$$

$$\ge M(x, \frac{(2 - \alpha)t}{8}),$$

and

$$\nu(T(x) - T'(x), t) \le \nu(T(x) - f(x), \frac{t}{2}) \diamond \nu(T'(x) - f(x), \frac{t}{2})$$

$$\le N(x, \frac{(2 - \alpha)t}{8}),$$

for all $x \in X, t > 0$. Therefore by the additivity of T and T', we have:

$$\mu(T(x) - T'(x), t) = \mu(T(2^{n}x) - T'(2^{n}x), 2^{n}t) \ge M(x, \frac{2^{n}(2 - \alpha)}{8\alpha^{n}}),$$

and

$$\nu(T(x) - T'(x), t) = \nu(T(2^{n}x) - T'(2^{n}x), 2^{n}t) \le N(x, \frac{2^{n}(2 - \alpha)}{8\alpha^{n}}),$$

for all $x \in X, t > 0$ and $n \in \mathbb{N}$. Since $0 < \alpha < 2$ and $\lim_{n \to \infty} (\frac{2}{\alpha})^n = \infty$, we get

$$\lim_{n \to \infty} M(x, \frac{2^n(2 - \alpha)}{8\alpha^n}) = 1, \ \lim_{n \to \infty} N(x, \frac{2^n(2 - \alpha)}{8\alpha^n}) = 0.$$

Therefore
$$\mu(T(x)-T'(x),t)=1$$
 and $\nu(T(x)-T'(x),t)=0$ for all $x\in X,t>0$. Hence $T(x)=T'(x)$ for all $x\in X$.

Acknowledgment: We wish to thank the young researchers club of Mahabad islamic branch University for the financial support.

References

- L. Barros, R. Bassaneziand and P. Tonelli, Fuzzy modelling in population dynamics, Ecol Model. 128(2000) 27-33.
- [2] S. Czerwik, On the stability of the quadratic mapping in normed spaces, Abh. Math. Sem. Univ. Hamburg 62(1992)59- 64. MR1182841 (94e: 39026).
- [3] R. Giles, A computer program for fuzzy resoning, Fuzzy Sets Syst., 4(1980) 221-234.
- [4] L. Hong and JQ Sun, Bifurcations of fuzzy nonlinear dynamical systems, Commun Nonlinear Sci Numer Simul, 1(2006) 1- 12.
- [5] D. H. Hyers, On the stability of the linear functional equation, Proc. Natl. Acad. Sci. 27(1941) 222- 224.
- [6] M. Mursaleen and S. A. Mohiuddine, On stability of a cubic functional equation in intuitionistic fuzzy normed spaces, Chaos, Solitons and Fractals, 42(2009)2997-3005.
- [7] S. A. Mohiuddine, Stability of Jensen functional equation in intuitionistic fuzzy normed space, Chaos, Solitons and Fractals, 42(2009) 2989-2996.
- [8] R. Saadati and Jh. Park, On the intuitionistic fuzzy topological spaces, Chaos, Solitons and Fractals, 27(2006) 331-344.
- [9] S. M. Ulam, Problems in Modern Mathematics, Chapter VI, Science ed., Wiley, New York, 1940.